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1. Where will Jane go this evening?
A. Go to the movies. B. Go to New York. C. Go to the station.
2. Where does the conversation most likely take place?
A. In the theater. B. In the library. C. In the cafeteria.
3. Where did this conversation most likely take place?
A. At a clothing store. B. At the doctor’s. C. At a museum,
4. Where did this conversation take place?
A. In Rome, B. In London. C. In Madrid.
What's the probable relationship between the man and the woman?

w

A. Lawyer and client. B. Doctor and patient. C. Dentist and patient.
CE-H(HRISNFEBNE LSS, ES 2.5 %)
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6. What had Robert already seen?

A. The travel agent. B. The pictures. C. The brochures.
7. What was too much of an undertaking for Robert?

A. Reading the brochures. B. Looking at the brochure pictures.

C. Watching a TV program about Guam,
8. What picture of Guam were they looking at?
A, Sunset, B. The people on the beach.
C. Boardwalk and pier.
o WP -E BB RE, RIS 0 B 11 .
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9. Where does the conversation probably take place?

A. In a city library. B. In a school library. C. In a public library.
10. Who takes out the book from the shelf?
A, The woman herself. B. The man in the library. C. The computer system.

1l. How many books can a person borrow?
A. Two. B. Three. C. Some.
< WP ANBobORE A S 12 Z08 14 4,
12. When does the conversation probably take place?
A. In the morning, B. In the afternoon. C. At noon.
13. Where did the woman probably leave her umbrella?
A. In her office. B. In the shower. C. At home,
14. What does the sentence “So am 17 mean?
A. T'm so glad I needn’t go out this afternoon either.
B. T'm so glad you needn't go out this afternoon., either,
C. I'm so glad we both needn’t go out this afternoon.
< WP SLBOROR, M 15 B4 17 .
15. How was the cost of the decorations?
A. The cost was unreasonable.
B. The cost wasn't unreasonable.
C. The cost wasn't reasonable,
16. What does Mary hope will become popular?
A. Bargains and discounts. B. Decorations and generosity.
C. Generosity and peace.
17. What do we need to remember that Christmas means?
A. God times and peace. B. Peace and Goodwill. C. Decorations and bargains.
s RS BRE A A SR 18 B4 20 AE,
18. What newspapers may people prefer in the future?
A. Newspapers printed as presents,
B. Newspapers printed in a personalized way.
C. Newspapers written in a personalized way.,
19. Where will the information nowadays most probably come from?
A. Newspapers. B. Advertisements. C. Internet,
20. What is the main idea of the passage?
A. Newspapers will last for ever though we have computers.

B. Printed newspapers will be taken by internet in future.

C. Printed newspapers will disappear right now.
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1. What is the probable relationship between the two speakers?
A; Teacher and student.

B. Lawyer and client. C. Doctor and patient.

2. Who says “Thank you very much for seeing me” ?

A. Patient. B. Doctor. C. Physicist,
3. What do you think the woman is?
A, A landlady. B. A waiter. C. A saleswoman,

4, What time did Sue leave home?

o

A, At a quarter past five, B. At half past four. At ten past five,
How much does one ticket cost?
A, $1.40. B. $4.30.
CEZW(HIS/EENNE LS S ES 22.5 %)
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How far is the bus stop?

o

C. $6. 40.

(=23

A. 300 meters away from the railway station.
B. 300 meters away from the two persons.
C. 300 meters away from the No., 4 bus,

7. How can the man get to the Victoria Plaza?
A. By subway. B. By bus.

8. Where is the Victoria Plaza?

C. By train.
A, Near the railway station. B. Near the bus stop.
C, Near Penguin Avenue,

= WP S -L B Rl FIE S5 9 5 11 M.

9, Where does this conversation take place?

A. At a book-stall,

B. At a post-office.

C. At a library.
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. What about the latest issue of the Readers?
A, Tt's not been published. B. It's been lent out.
. What magazine will the man get?
A. The latest issue of the Police.
B. The latest issue of the two magazines.
C. The latest issues of the two magazines.
WSS BB RIS 12 A 14 L
. Where does this conversation take place?
A. Ina TV program. B. In real life.
. What do Romeo and Juliet's parents say to them?
A. They tell them they're splendid.
B. They tell them they are imaginative.

C. They tell them mean things.

A. They live in a picturesque real world,
B. They are ignorant of the real world.
C. They live in a stressful real world.
= WP SLECR R BIEE 15 B 1T ML
. How about the trunks the woman has?
A, In different sizes bur the same materials.
B. The same sizes but of different sizes.
C. Not only different in sizes but also materials.
. What does the man think of the leather trunk?
A. Acceptable. B. So dear.
. Which trunk does the man probably want to take?

A. 85 centimeters. B. 80 centimeters.

RSB R, FI 18 B 20 ML

20,

. What can you guess the writer probably does?
A. A student. B. A teacher.
. Why did the writer get into art school four years later?
A. Because of her liking to make things.
B. Because of her enjoying working nearby.
C. Because she won a prize when she was young.
What can vou infer from the passage?
A. The writer prefers something different.

B. The writer prefers a long way to work.

C. The writer prefers to work in a small workplace.

C. It’s been sold out,

C. In a play.

What do the parents think about Romeo and Juliet and the real world?

C. Very cheap.

C. 90 centimeters.

C. A craftswoman.
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Test Three
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1.

How much will the man pay for two general tickets and two student tickets?
A. The man will pay ten dollars,
B. The man will pay twenty dollars,

C. The man will pay thirty dollars.

. How much did the woman pay for the vegetables?

A. $2.50. B. $3.00. C. $1.50.

. When will Frank arrive?

A. Tomorrow. B. Next work.

~

. The day after tomorrow,

. When did the play begin?

A, At 8 o'clock. B. At 9 o’clock. C. At 10 o'clock,
How much does the toaster cost?
A. Twenty— seven dollars. B. Ten dollars and ninety—five. C. Seventeen dollars,
CEZW (15 MEEBNE 1.5 5,5 22.5 5F)
0 R 5 B Rt iRl . A B RS S R A LAY/ R R AR R ALBLC AP e 2

-

T, 3R 75 AR 4 0 MR 1 0 . O 4 B O R0 4R A T B /N CREIE 5 PR s W SE R 45 R
gy 5 FBh G M e ] . B I el R

WA BB R A 6 A 8 M,

When do you guess the man got to the city according to the conversation?

A. The day before vesterday. B. Yesterday.
C. Three days ago.

. Where is the petrol station mentioned in the conversation?

A. On the left of the Foreign Affairs Department Building.

B. On the right of the Sun Hotel.

C. On the right of the Foreign Affairs Department Building.
How many building names are mentioned in the conversation?

A. Three. B. Four. C. Five.
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Y. How does the man inform the woman about her book if it comes?
A. By writing a card. B. By mail. C. By dropping in.
10. How many books do you think the woman has borrowed?
A. Three. B. Four. = C. Five.
11. How long can the woman keep the books borrowed from the library?
A, About 30 days. B. Fewer th-an 30 days. C. Maore than 30 days.
© DR BRI 12 55 14 L
12. What happened last night?
A. A Storm hit. B. It rained cats and dogs. C. A strong wind blew.
13. What's about the weather this afternoon?

A. Nice and warm, B. Nice but cold.

I

". Rainy and cold.
14, How do you like the weather this time according to the dialogue?

A. Changeable, B. Nice but rainy. C. Warm and sunny.

< WP JUBERORE, IS 15 B 1T

15. Who is the man talking with?

AL A tailor. B. A shop assistant, C. His servant,
16. How does the woman know the man’s measurements?

A. She takes the man’s measurements by herself.

B. The man tells her his measurements,

C. She is familiar with American measurements.
17. What trousers does the man probably want to get?

A. The first pair the woman shows to him,

B. The larger pair in the store,

C. The biggest size in the store,

= WSS Bob R PSS 18 25 20 M,

18. What did the conductor advise the writer to get off before Vienna?

A. He could take a taxi as soon as the train stopped.

B. He could take another train for Paris there.

C. He could wait for another train to Vienna,
19, How did the writer feel when he saw the train was just moving?

A, Happy. B. Angry. C. Disappointed.
20. What can you get {rom the passage?

A. The conductor was very kind to the writer.

B. The writer paid the bus driver leisurely.

C. The driver helped the writer to catch the train.
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Test Four

CE—Y(HNE;ENE LS S, T.55)
WE T 5 B . BB A — AN/ R BT 9 ALBLC L= A I R B A 0 O B A
% WAR A B L T 52 R B L URAS AT 10 B b Y I (6] e (] 5 A7 56 /A T — /L, A B (L —

il
1. How far away is the university?

A, Six blocks. B. Two blocks. C. Four block.
2. What's the population of Shanghai?

A. 21 million. B. 10 million. C. 17 million.

3. How much should the man pay for the carpets?
A. Two thousand eight hundred and four pounds.
B. Two thousand two hundred and eight pounds,
. Two thousand four hundred and eight pounds,
4. How tall was Alan when he was in Seattle?
A. He was only one foot tall. B. He was half a foot tall,

C. He was five feet tall,

@

What is the weight limit to the luggage one passenger can carry on the plane?
A, 15 kilograms. B. 12 kilograms, C. 9 kilograms.
SEZH( 15 NE; BB 1.5 4,5y 22.5 4))
0F R 5 Bt i el py ., A Bl (S A LA /N EL I R A B ACBLC S AR B Y I
ST, bR e A OO AR R A . T A8 BRI SRR £ AN A ] B 4 A R R R 5 BBl s W SE SR L 2
gyl 5 Bhph ey M2 et ], AR B IE B R .
= WEE N BEA R, Il 5 6 FEA 8 M,
6. What does Julia say Jim is famous for?
A. His song records are a smash.
B. He's a famous jet.
C. He's a famous traveler.
7. What does Julia think about Jim's parties?
A, She is always on top of his parties,
B. She thinks they are boring.
C. She thinks they are a lot of fun.

8, What does Julia say was boring?

A. Jim's slides, B. Jim's archeological finds.
C. Jim's private jet, .
4 ; - '_|
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9. Why does the man say no to the woman's suggestion?
A. Because he is not good at spoken English.
B. Because he has nothing special to do with her.
C. Because he has something special to do that day.
10. How does the woman find the man's English?
A. Being afraid of making mistakes in his writing.
B. Being afraid of making mistakes in his speeches.
C. Being afraid of making mistakes in his learning.

11. What's the probable relationship between the two speakers?

A. Teacher and student, B. Classmates, C.

WP NECAORL RUE S 12 B 14 8,

12. What's the woman's favorite sport?

A. Bowling and jogging. B. Swimming and skating, C
13. How long has the sport of Taijiquan been around?

A. Three centuries. B. More than three centuries.

C. About three hundred years.
14. What do you think they can do in future?

A. The man will teach the woman Taijiquan.

B. The woman will teach the man bowling.

C. They learn from each other.

WS JLBCHERE, 105 15 5 17 M.
15. What does the woman ask the man to do for her?

A. To show her the shoes mentioned by her.

B. To show her the shoes in the display window.

C. To show her the shoes he has made.
16. How many shoes has the man shown to the woman?

A. One pair, B. Two pairs, C
17. How much is a pair of size 367

Brother and sister.

. Kungfu and Taijiquan.

. Three pairs,

A, Thirty-six dollars. B. One hundred and twenty-eight dollars.

C. Ninety-two dollars.
= WS BB RIS 18 B 20 B,
18. In what way are our ears different from our face?
A. Not only change in shape but in size.
B. Nothing change but its size,
C. Only change in shape.
19. Why did people in old days like reading their ears?
A, Different ears stood for different characters.
B. Big ears showed a person was dangerous.
C. Small ears showed a person was good and generous.
20. How can you know a person is angry or has a high blood pressure?
A. His ears are pale and cold. B. His ears have big insides.

C. His ears are red.
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Test Five

CE—F(FESNE;HNME L5 S, ES TS5
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1. What does the woman imply?

A. She doesn’t want to go to the birthday party,

B. She would rather stay at home,

C. She would go out with the man on another occasion.
2. What does the woman mean?

A. The coat was more expensive than three hundred dollars,

B. She would like to buy the coat.

C. She can’t afford the price of the coat.
3. What does the woman want?

A. She wants to be five years younger, B. She wants to be ten years younger.

C. She likes the man very much.
4. What can we learn from the dialogue?

A, Fish always sweat. B. The father is very knowledgeable.

C. The father is teasing his daughter.
5. What can we learn from the dialogue?

A. The brother is very rude. B. The boy doesn’t like oranges.

C. The boy doesn’t understand the woman.

OO 15 N RN L5 A AT 2 2.5 4

Wi R 5 B g s . A BUHE B (R A LA /NE L T T 9 ALBLC =N BR I B e

T bR 4 B AR R T B O B P L 4K AT B () B R A AN B/ S BB TSRS L A5 D
RIS BB A0 fR R R ] . 45 B R SO T

< WP A B A RL, MIEEE 6 3 8 M.
6. Who is the woman speaking to?

A. A taxi driver. B. A policeman. C. A waiter,
7. How much farther must the woman go to find the store?

A. Walk 10 minutes more. B. Walk 2 more blocks. C. Walk 1 more mile. #

( _f‘_ T;.
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8. What is the man doing for the woman?
A. Driving her to the store. B. Describing the store. C. Giving her directions to the store,
WP LB, A 9 F 11 E,
9. Why does Kate not plan to buy eggs?
A. Because she has already bought a lot. B. Because the children do not like eggs.
C. Because Mrs. Smith has bought some for her.
10. What is Kate going to buy?
A. Pears and bananas, B. Pears and peaches, C. Bananas and peaches.
11. Who is Steve most probably?
A, Kate's son. B. Kate's husband. C. Kate's close friend.
=P BB R WA 12 & 14 8,
12. How did the speakers get to know each other?
A. They went to the same school.B. They met ten years ago. C. The were neighbors,
13. Where did this conversation take place?
AL In Paris. B. In London.
14. What language does the man’s wife speak?
A, English, B. French. C. Italian,
= WP S LB A ), B S 15 F 17

15. What is NOT true about ostriches?

9

. In Ttaly,

AL Ostriches can not fly, B. Ostriches can run quickly. C. Ostriches don't eat a lot.
16. Some people say that*He is ostrich-like”. What does that mean?
A, It means that the people can't fly.
B. It means that the people can run quickly.
C. It means that the people pretand not to see the problem.
17. What is the ostrich’s strange habit?
AL It eats too much. B. It buries its head in the sand. C. It eats stones,
<R BB R MRS 18 F 20 .,
18. What is true about sound energy?
A. Sound energy can only be changed from electrical energy.
B. Sound energy must travel through wood, water and speakers.
C. Sound energy vibrates something,
19. What's the use of the spring in the passage?
A. The spring can cause sound energy.
B. The spring shows you the wavelength.
C. The spring shows you how the sound energy moves.
20. Which description is true about a deep sound?
A. Deep sound has a low frequency and long wavelengths.
B. Deep sound has a low frequency and short wavelengths.

C. Deep sound has a high frequency and long wavelengths.
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Test Six
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1. Why is the woman upset?

A. His uncle often complains, B. His uncle is good. C. She is worried about money.
2. Why did the clothes look green?
A. Because it was yellow. B. Because it was blue. C. Because of the blue light.

3. Why can’t the woman give the man directions?
A. She is too weak to say very much.
B. She just came to the new piace,
C. She is very much afraid.
4. On what day will the man be able to see Doctor John?
A. On Tuesday. B. On Wednesday. C. On Thursday.
. What does the first speaker want to know?
A, Whether he is here on Tuesday.
B. Whether he is here on Thursday.
C. Whether he's going to school.
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6. What is the woman?

wn

A. A famous painter. B. A reporter. C. His girlfriend.
7. What kind of exhibition is it?
A. An international art exhibition, B. A painting show of a city.
C. A photography show in Ashland.
8. When is it being opened?
A, Next month, B. Next week. C. Tomorrow.
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9. What’s the matter with Erik?

A. He's just tired, B. He is ill. C. His car was stolen just now.



